EENG382 HWO06 — AUTHOR’S SOLUTIONS
NOTE: | have not yet verified that the author’s solutions are, in fact, correct.
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Prob 13.68 (Cont’d)
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Prob 13.68 (Cont’d)
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[d] The waveform in part (c) is closer to replicating the input waveform
because in part (¢) h(A) is closer to being an ideal impulse response.
That is, the area was preserved as the base was shortened.
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[b] At ¢ =0 the current in the 1 uF capacitor is 100(t) pA
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After the impulsive current has charged the 1 pF capacitor to 10 V it
discharges through the 50 k(2 resistor.
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Note — after the impulsive current passes the circuit becomes
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The solution for v, in this circuit is also
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